
8047 8047.5 8048 8048.5 8049
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

21.8−

21.6−

21.4−

21.2−

21−

20.8−

20.6−

20.4−

20.2−

20−

19.8−

19.6−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

3−

2.5−

2−

1.5−

1−

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

7111

7111.5

7112

7112.5

7113

7113.5

7114

7114.5

7115

ru
n

run:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7113}



8047 8047.5 8048 8048.5 8049
cyclenum

124−

123.5−

123−

122.5−

122−

us
l_

1X

usl_1X:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

1−

0.5−

0

0.5

1us
l_

4a
Y

usl_4aY:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

61

61.2

61.4

61.6

61.8

62

62.2

62.4

62.6

62.8

63

63.2

us
l_

4e
X

usl_4eX:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

18.5

19

19.5

20

20.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

43.5−

43−

42.5−

42−

41.5−

us
l_

12
X

usl_12X:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

7111

7111.5

7112

7112.5

7113

7113.5

7114

7114.5

7115

ru
n

run:cyclenum {run == 7113}



8047 8047.5 8048 8048.5 8049
cyclenum

147−

146.5−

146−

145.5−

145−

us
r_

1X

usr_1X:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

0.5

1

1.5

2

2.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

206

206.5

207

207.5

208

us
r_

4e
X

usr_4eX:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

13.5

14

14.5

15

15.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

40.5−

40−

39.5−

39−

38.5−u
sr

_1
2X

usr_12X:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

7111

7111.5

7112

7112.5

7113

7113.5

7114

7114.5

7115

ru
n

run:cyclenum {run == 7113}



8047 8047.5 8048 8048.5 8049
cyclenum

34070

34070.5

34071

34071.5

34072

us
l_

co
il1

usl_coil1:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

6875

6875.5

6876

6876.5

6877

us
l_

co
il3

usl_coil3:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

3972.6

3972.8

3973

3973.2

3973.4

3973.6

3973.8

3974

3974.2

3974.4

3974.6

3974.8

us
l_

co
il4

usl_coil4:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

355.4−

355.2−

355−

354.8−

354.6−

354.4−

354.2−

354−

353.8−

353.6−

353.4−

353.2−

us
l_

co
il6

usl_coil6:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

16567

16567.2

16567.4

16567.6

16567.8

16568

16568.2

16568.4

16568.6

16568.8

16569

16569.2

us
l_

co
il7

usl_coil7:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

7111

7111.5

7112

7112.5

7113

7113.5

7114

7114.5

7115

ru
n

run:cyclenum {run == 7113}



8047 8047.5 8048 8048.5 8049
cyclenum

30138−

30137.5−

30137−

30136.5−

30136−us
r_

co
il1

usr_coil1:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

5892−

5891.5−

5891−

5890.5−

5890−us
r_

co
il3

usr_coil3:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

3618

3618.5

3619

3619.5

3620

us
r_

co
il4

usr_coil4:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

236−

235.5−

235−

234.5−

234−

us
r_

co
il6

usr_coil6:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

18206

18206.5

18207

18207.5

18208

us
r_

co
il7

usr_coil7:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

7111

7111.5

7112

7112.5

7113

7113.5

7114

7114.5

7115

ru
n

run:cyclenum {run == 7113}



8047 8047.5 8048 8048.5 8049
cyclenum

454−

453.5−

453−

452.5−

452−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

76.5−

76−

75.5−

75−

74.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

25.5

26

26.5

27

27.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

511−

510.5−

510−

509.5−

509−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

99−

98.5−

98−

97.5−

97−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

24

24.5

25

25.5

26

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7113}



8047 8047.5 8048 8048.5 8049
cyclenum

167

167.5

168

168.5

169

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

68

68.5

69

69.5

70

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

10.5−

10−

9.5−

9−

8.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

181

181.5

182

182.5

183

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

2.5

3

3.5

4

4.5

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

8.5−

8−

7.5−

7−

6.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7113}



8047 8047.5 8048 8048.5 8049
cyclenum

233.5−

233−

232.5−

232−

231.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

85−

84.5−

84−

83.5−

83−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

2

2.5

3

3.5

4

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

6

6.5

7

7.5

8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

434.5−

434−

433.5−

433−

432.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7113}

8047 8047.5 8048 8048.5 8049
cyclenum

7111

7111.5

7112

7112.5

7113

7113.5

7114

7114.5

7115

ru
n

run:cyclenum {run == 7113}
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